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CHAPTER -1 ACID, BASE AND SALTS

1. The gas released when the acid reacts with metal
A . Hydrogen B. Chlorine C. Carbondioxide D. Nitrogen dioxide.
2. Which of the following causes acid rain
A.Below P"5.6  B.Above P"'5.5 C.Below P"6.0  D.Below P" 7.8
3. Acid Produced in our stomach.
A. HNO; B . HCI C. H,SO, D. H,S0;
4. The reaction in which acid and base react to produce water and salt.
A. Acidification  B. Neutralization
C. Dilution D. Substitution reaction
5. The gas released when dilute sulphuric acid reacts with zinc metal.
A . Sulphur dioxide B. Carbon dioxide C. Nitrogen D. Hydrogen
6. NaoH + HCl----> Nacl + H,0 . The chemical reaction is an example of this.
A. Neutralization reaction B. Substitution reaction
C. Addition reaction D. Combustion reaction
7. Acid in honey bee bites
A. Hydrochloric acid B. Nitric acid
C. Methanoic acid D. Hydro fluoric acid
8. The P" Value of solutions A,B,C and Dare 2,3,4 and 5 respectively, with the
highest acidic value.
A. Solution ‘A’ B. Solution B C. Solution’C’  D. Solution’D’
9. Fresh milk has a P" of 6 and its P" value after the milk has been converted into a
yogourt(curd).
A.6 B. Below 6 C.7 D. Below 7
10. If a solution turns red litmus into blue, its P" value.
A1l B.4 C.5 D. 10
11. Which of the following is used for the treatment of indigestion .
A. Antibiotic B. Analgesic C. Antacid D. Antiseptic
12. The P" value range of our body.
A.6to7.8 B. 7t0 7.6 C. 7t07.7 D. 7t0 7.8
13. The P" value of rain water that can sustain aquatic life.
A.Below 5.6 B. Below 5.8 C. Below 6 D. Below 5.9
14 . The gas released when Acids react with metallic carbonates.
A. Carbon dioxide B. Hydrogen C. Oxygen D. Nitrogen
15. Metallic oxides usually have this property.
A. Acidic B. Basic C. Neutral D. None of the above
16. Water is not added to the acid to weaken the strong acid . Reason
A. Water does not dissolve in acid
B. Dilution process is slow
C. The solution is freezing as it is an endothermic reaction
D. Due to the exothermic reaction ,the solution is cracked
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23.

. If the solution is P" 13 then that solution .
A. Strong acid B. Dilute acid C. Strong base
. The reason acetic acid is called a weak acid.
A. Hydronium ions are very low B. Hydronium ions are very high
C. There are no hydronium ions D. It does not cause burns

D. Dilute base

It can relieve the pain and inflammation of honey bee bites
C. Yogurt

A. Vinegar B. Baking soda D. Lime Juice

. Among these are synthetic indicaters .

A. Vanilla and onion
C. Litmus and Turmeric

B. Turmeric and Hibiscus
D. Methyl orange and Phenolpthalein

. Two compounds produced in the neutralization reaction.

A.Water and salt
C. Salt and Hydrogen

B. Water and carbondioxide
D. salt and carbon dioxide

. Our body’s tooth enamel is made of this,

A. Calcium sulphate B. Calcium carbonate
C. Zinc sulphate D. Calcium hydroxyl apetite
This is the colour of neutral P"

A. Yellow B. Green C. Red D. Blue

24. An appropriate choice to fill in the equation, NaoH + HC |----> + H,0.

25.

26.

27.

28.

29.

30.

A. Na,O

Acid found in Tomato,

A. Lactic acid B. Oxalic acid C. Citric acid
A substance containing tartaric acid

A. Orange B. Tamarind
The taste of acid.

A. Bitter B. Sweet

As the P" value of a solution decreases.

A. The number of OH" ions increases

B. The number of H' ions increases

C. The number of H' ions decreases

D. The number of OH + H" ions is equal

Non metallic oxides usually have this property.

A. Acidic B. Basic C. Neutral
Taste of Base.
A. Bitter

B. H, C. Nacl D. HCI

D. Methanoic acid
C. Neutral D. Curd

C. Sour D. salt

D. None of the above

B. Sour C. Sweet D. Salt

Key answers.
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5

6

B

D

A
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15
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A

B
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25

26
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B
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CHAPTER 2: METALS AND NON METALS

1. Compounds having high melting point are
A .lonic compounds B. covalent compounds C. Carbon compounds D. All the above
2. An alloy having lead and tin as its component
A. brass B . Bronze C. solder. D. stainless steel.
3. Amphoteric oxides react with following reactants and form salt and water.
A. metal and non metal. B. acids and bases
C. hydrogen and oxygen D. metals and acids.
4. Steps involved in the extraction of metals from their ores.
Sulphideore =—=> [————1 =——> reduction =——>purification
A. electrolysis B. calcination
C. roasting D. oxidation
5. Copper oxide reacts with dilute hydrochloric acid to give salt and water. so copper
oxide is
A. acidic oxide.  B. basic oxide
C. Neutral oxide. D .Non metallic oxide.
6. Aluminium metal reacts with steam.
The correct balanced equation of the above reaction is
A.3AI+2H20 ———» AI203+2H2 B.Al+3H20——» 2AI203+H2
C.2Al+H20 — 3AI203+H2 D.2Al+3H20 —> AI203+3H2
7. The process of conversion of carbonate ores into their oxides is called
A. roasting B . reduction
C. calcination D. electrolysis
8.Atomic number of an element X is 11 and Y is 17,the type of bond formed
between these two elements is
A. ionic bond B. covalent bond.
C. hydrogen bond. D. Metallic bond
9. Observe the following chemical reactions
Fe+CuSO4 —> Feso4+cu
Zn+FeSO4 ___, Znso4d+su
Decreasing order of reactivity of metals in above equations
A. Zn>Fe>Cu B. Fe>Cu>Zn
C. Zn>Cu>Fe D. Cu>Fe>Zn
10. Seetha has purchased a new silver anklet , after a few days it turns black. it is due to
the action of
A. Co2 B. Sulphur
C. Oxygen D. Nitrogen
11. The following metal increases its durability by corrosion
A.iron B. copper
C. magnesium D. aluminium




12. The gas liberated when the metal carbonate reacts with an acid
A. hydrogen B. Co2
C. oxygen D. nitrogen
13. Arrange the elements aluminium, copper, calcium, lead in the decreasing order of
their reactivity
A. Al>Cu>Ca>Pb B. Pb>Ca>Cu>Al
C. Ca>Al>Pb>Cu D. Cu>Al>Ca>Pb
14. X reacts with Y and gives a compound Z in which X donates electrons while Y receives
electrons. Which property is not belongs to Z
A. it has high melting point B. it has low melting point
C. it conducts electricity D. it available in solid states
15. Which pair amoung the following forms displacement reaction
A. NaCl solution and copper B. MgCl2 solution and aluminium
C. FeSo4 solution and silver D. AgNo3 solution and copper
16. The best method of avoiding the rusting of iron pan
A. greasing B. painting
C. Zinc coating D. all the above
17. The food bins are coated with Tin but not Zing, it is because of
A. Zinc is costlier than Tin
B. the melting point of Zinc is higher than tin
C. Zinc is more reactive than Tin
D. Zinc is less reactive than Tin
18. Magnesium strip is exposed to air, chemical layer formed at its surface
A. MgO B.MgCo3 C. MgS D. MgNo3
19. The thermite process is used for
A. to connect fractured bones B. to connect damaged parts of a machine
C. treatment of teeth D. enrichment of Ores
20.1t is possible to make 2km thin wire by 1 gm of Gold. The property of metal applied
here is
A. conductivity B. ductility
C. malleability D. magnetism
21. The metals are stored in kerosene are
A. Na and K B.Kand C
C. Naand Ca D. Kand Al

Answers:

5 6
B D
15 16
D D




CHAPTER 3 -CARBON AND ITS COMPOUNDS

1. In Ethane, molecular formula C,H¢ contains
A. 6 covalent bond B. 7 covalent bonds C. 8 covalentbond D. 9 covalent bonds
2. The functional group present in butanone is
A. Carboxylic acid  B. Aldehyde C. Ketone D. Alcohol
3. The black colouration of cooking vessels during cook signifies
A. Food is partially Cooked  B. Fuel is not completely burning C. Fuel is moist
D. Fuel is completely burning
4. The one which undergoes addition reaction is
A. C2H6 B. C3H8 C. CH4 D. C3H6
5. Metallic ion responsible for hardness of water is
A. sodium and Potassium B. Chloride and Bromine
C. Calcium and magnesium D. Bromine and lodine
6. The organic compound which is having the formula CH;CH,Br
A. Bromo ethane B. Ethanone C. Chloro ethane D. Ethanal
7. The molecular formula of Cyclopentane is CsH;,.The number of valence bonds in this
are

A5 B. 10 C.12 D. 15

8. Unsaturated compounds among the following
1) Propane i1) Propene i11) Propyne 1v) Chloro propane
A1) & i) B. i) & iv) C.1ii1) & iv) D. ii) & iii)

9. The carbon compound having the formula of CsHg is

A. Cyclo hexane B. Hexene C. Pentene D. Benzene
10. Difference between successive homologous series compounds is

A.-CH, B.—CH C.—-CH, D. C,H;
11. Carbon combines with other carbon atoms to form a large molecule.This nature is

called

A. Parallelism B. Polymorphism C. Catenation D. Hydrogenation
12. The balanced chemical equation among the following is

A. CH3CH20H + 302 -> 2C02 =+ 3H2 + Heat & nght

B. CH3CH20H + 02 -> 2C02 + 3H20 + Heat & nght

C. CH3CH20H + 302 -> 2C02 + 3H20 + Heat & nght

D. CH3CH20H + 3C02 -> 2C02 + 3H20 + Heat & nght
13. The functional group in the following carbon compound

HHO

|
JHCOO-0H
||
HH
A. Aldehyde B. Alcohol C. Ketone D. Carboxylic acid




14. The molecular formula of benzene is
A. C5H12 B. C6H12 C. C6H6 D. C6H10
15. The number of single bonds in cyclohexane is
A. 12 B. 18 C.24 D.6
16. The correct group of saturated hydrocarbons is
A. CH4’CH2,C3H4 B. C2H6,C3H8’C4H10 C. C2H2’C2H2’CH4 D. CzH,C3H6’C4H6
17. The first member of alkene series is

A. Benzene B. Propene C. Ethene D. Pentene

18. The one which doesn’t belongs to homologous series is
A. CHy B. C,Hg C. CsHg D. C4Hg

19. The ionic end of soap reacts with
A. Oil B. Water C. Dirt D. Colour

20. The number of electrons required to form triple bonds between two atoms are
A. 4 B. 8 C.2 D.6

21. The molecular formula of methane is

A. CH4 B. C2H6 C. C3Hg D. C4H10
22. The general formula of alkynes is

A. CnH2n+2 B. CnHZn C. CnH2n-2 D. CnH2n-1

23. The character of unsaturated hydrocarbon is

A. Undergoes elimination reaction B. Undergoes addition reaction

C. Burns with clean flame D. less active
24. The compounds with same molecular formula but different structures are called

A. Polymorphs B. Non metals C. Twins
25. The dot structure of hydrogen molecule is

A.H:H B. 0:0 C.H:H D. O0::0

D. Isomers

Key Answers
5 6
C A

16
B




UNIT -04 PERIODIC CLASSIFICATION OF ELEMENTS

. The electrons present in the outermost shell of an element are called
A.Excesselectrons B.Free electrons C. Valence Electrons D.Local electrons

. The scientist was radiculated for comparing chemistry to music
A.DobereinerB.MendeleevC.HenrymoseleyD.Newland

. When elements are arranged in the order of increasing atomic masses, the properties
of the eighth element are a repetition of the properties of the first element. This is
A.Law of triads B.Law of octaves

C. Modern periodic law D.Mendeleev’s periodic law

. For this reason it is appropriate to consider the atomic number rather than
the atomic mass in the arrangement of the elements in periodic table is
A Properties of noble gases B.Properties of metals

C.Properties of alloys D.Properties of isotopes

. When A, B and C elements are arranged in sequence. The formula for the traid rule
is applied.

A.B=A+C/2 B.B=2A+C C. B=A+2C D.B=A+C

. The electronic configuration of the element was written as 2 P> The element

belongs to the period

A7 B3 C4 D.5

. In Modern Periodic table, as we move from left to right in one of the period, the
atomic size

A.Increases B.Decreases

C.Remains the same D.First increases then decreases
Based on this rule the periodic table could not be extended after the calcium
A.Dobereiner’s law of triads B.Newlands law of octaves
C.Mendeleev’s periodic law D.Modern periodic law

. 18th group elements are called zero group elements. This is because
A.Octet configuration

B.Very less reactive

C. Outermost shell is completely filled with maximum number of electrons
D.All the above

. Properties of elements are periodic functions of their atomic number. This Law is
proposed by
A.Dobereiner B.Mendeleev C.Moseley D.Newland




10.When elements are arranged in the order of increasing atomic masses, group of

three elements having similar chemical properties are obtained.the atomic mass of

the middle element of the triad being equal to the arithmetic means of the atomic

masses of the other two elements

This law is proposed by

A.Dobereiner B.Newland C.Mendeleev D.Moseley
11.Which one group among the following is not the dobereiner’s law of triads

A.ClL,Br,I B.Ca,Sr,Ba C.N,P.K D.Li,Na,K
12.In Modern Periodic Table the horizontal rows are called

A.Period B.Group C.Table D.Steps
13.In Modern Periodic table the vertical columns are called

A.Square B.Period C.Group D.cube
14.Properties of elements are a periodic functions of their atomic masses.This law is

proposed by

A.Dobereiner B.Mendeleev C.Newland D.Henrymoseley
15.In Modern Periodic Table the electronic configuration 2,8,8 of an element belong to

which group

A.10th group B.18th group C. 1st group D.2nd group
16.Which element has the large atomic size

A.Potassium B.Calcium C.Iron D.Zinc
17.According to Mendeleev, the chemical formula of EkaAluminium oxide is

A GaO B. Ga302 C.Ga203 D.Ga202
18.A,B,C,D &E elements are consequently having the atomic number 2,3,7, 10 and

18. Among which elements belong to the same period

A.ABC B.BCD C.ADE D.BDE
19.The atomic number of X element is 11 and Y element is 17.Hence the bond formed

between X and Y is

A.Hydrogen bond B.Covalent bond  C.lonic bond D.Metallic Bond

Key answers

6

A

16

B




CHAPTER 5. LIFE PROCESS

. Oxygenated blood from the lungs is carried to the.
A . Right atrium B. Right ventricle C. Left atrium D. left ventricle.
. Removal of waste products in the body is called
A. Blood cerculation B. Excretion C.Respiration D.Digetion
. The nitrogen waste removed by the body nephrons in the human kidney is.
A. urea and uricacid B . phosphoric acid C. sulphuric acid  D. nitric acid
. The structurel and functional umit of kidney is .
A. Neuron B. Nephron C. Glomerulous D. Bowmans capsule
. The kidneys in human beings are a part of transportation of the system for.
A . Nutrition B. Respiration C. Excretion D. transportation
6. The cells which transport oxygen to the different parts of the human body.
A. Heamoglobin B. platelets C. white blood cells D. plasma
. In vertebrates the blood passes twice through the heart making one complete round
through the body. this is called.
A. Bi blood cerculation B. pulmonary cerculation
C. Double cerculation D. Active transpiration
8. The constituent of the blood which healps to clott the blood is.
A. Heamoglobin  B. platelets C. white blood cells D.plasma
. The tissue that transports prepared food in plants .
A. Xylem B. phloem  C. companion cells D. sieve tube

10. The evaporation of water from the surface of leaf cells in plants.

A. photosynthesis B.translocation  C. water cycle D. transpiration
11. In humans it is another fluid that is involved in transportation like blood.
A. lymph B. platelets C. white blood cells ~ D.plasma
12. The following animal have a 3 chambered heart.
A . crow B. Lizard C.Fish D. Dog
13. waste products in plants stored as resins and gums especially in.
A.old xylem  B. phloem tissue C. Companion cells D.Sieve tube
14 . The procedure used for cleaning the blood of a person by separating
urea from it is called:
A.osmosis  B. filtration  C. dialysis D. double circulation
15. The functions of blood is.
1 . Transportation of food 2.transportation of oxygen
3 .production of urin 4. transport waste material.
A. Only 1 B.Onlyland2 C.1,2and3 only D. 1,2 and 4 only




16. What prevents back flow of blood during contraction?
A. Valves in heart B. Thick muscular walls of ventricles
C. Thin walls of atria ~ D. All
17. Name a circulatory fluid in the human body other than blood .
A. platelets B. Red blood cells  C. plasma D. Lymph
18. The blood vessel which pumps the blood from heart to the entire body.
A. artery B. Haemoglobin C. vein D. Capillary

19. Oxygenated blood circulate in the following path.

A. Lungs—> Heart—> cells B. cells> Lungs—> Heart
C. lungs > cells> Heart D. Heart-> cells> Lungs

20. The loss of water in the form of vapour from the aerial parts of the
plant is known as .
A. Respiration B. photosynthesis C.Transpiration D. translocation
21. The blood leaving the tissue becomes rich in .
A.Haemoglobin B.water C.carbon di oxide
22. The correct path of urine is _.
A. Kidney— ureter — urthra— urinary bladder

D. oxygen

B. Kidney — urinary bladder — urethra — ureter
C. kidney— ureter — urinary bladder— urethra
D. urinary bladder — kidney — ureter —urethra

23. The xylem in plants are responsible for
A . transport of water B.transport of food

C .transport of amino acid D .transport of oxcygen

KEY ANSWER

4

5

6

B

C

A

14

15

16
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D
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CHAPTER 6: CONTROL AND CO-ORDINATION

. The way of response of roots in plants is
A. Directional and negative phototropism.
B. Positive phototropism and negative geotropism.
C. Non directional and positive geotropism.
D. Growth related and positive hydrotropism.
. Lower part of Throat is swollened, rate of metabolism is lowered. The gland related to this
problem is
A. Thyroid B. Adrenal
C. Pancreas D. Pituitary
. Use of Iodine along with salt is the remedy for the disorder
A. Genital B. Thyroxine
C. Adrenal D. Pancreas
. Control and co-ordination of voluntary actions are related to
A. Hind brain B. Hypothalamus.
C. Cerebellum D. Spinal cord

. The harmone find in fruits in large quantity is

A. Gibberellins B. Cytokinins
C. Auxin D. Abscisic acid
. Plant harmone responsible for growth of stem

A. Auxin B. Gibberellins
C. Cytokinins D. Abscisic acid

. Part of the brain which controls involuntary actions
A. Cerebrum B. Cerebellum
C. Medulla D. Spinal-cord




8. The harmone which increases heart beat, rate of breathing and prepares the body
to face scary situation
A. Thyroxin B. Adrenalin
C. oestrogen D. Insulin
9. The harmone which regulates Carbohydrates, Proteins and Fat metabolism
A. Testosterone B. Thyroxin
C. Adrenaline D. Insulin
10. Mismatching pair among the following is
A. Adrenaline-Pituitary gland B. Testosterone-Testis
C. Insulin-Pancreas D. Thyroxin-Thyroid gland
11. Part of the Brain which regulates precision of voluntary actions and maintaining the body
balance
A. Pons B. Cerebrum
C. Hypothalamus D. Cerebellum
12. Following is the functions of Hind brain
A. Thought B. Hungry

C. Vision D. Posture

13. Part of the brain which is responsible for thinking

A. Cerebrum B. Hypothalamus

C. Hind brain D. Spinal cord
14. Hypothalamus regulates

A. Sleeping B. Hearing

C. Thinking D. Movement
15. Part of the brain which regulates breathing

A. Forebrain B. Cerebellum

C. Pons D. Spinal cord




16. The correct path way of the reflex action

A. Receptor-Sensory neuron-motor neuron-relay neuron-effector

B. Sensory neuron-relay neuron-receptor-effector-motor neuron
C. Relay neuron-effector-sensory neuron-motor neuron-receptor
D. Receptor-sensory neuron-relay neuron-motor neuron-effector
17. A part of the reflex arc which produces response
A. Receptor B. Sensory neuron
C. Motor neuron D. Effector
18. The gap between two neurons is called
A. Axon B. Synapse
C. Dendrite D. Cell body
19. Harmone which is responsible for masculine characters in humans
A. Testosterone B. Insulin
C. Progesterone D. Thyroxin
20. Harmone secreted by Pancreas
A. Adrenaline B. Thyroxin

C. Insulin D. Pituitary

KEY ANSWERS




CHAPTER 7.HOW DO ORGANISMS REPRODUCE

. Germ cells having same number ofchromosomes because
A. To transfer inherited properties to generations
B. Maintain consistency in the number of chromosomes in a generation
C. Change of inherited qualities in a generation
D. The same gene is passed across generation

. This part of the flower is turned into a fruit during the next stage of growth
A. Ovules
B. Ovary
C. Stigma
D. Style

. Which part produces the hormone that regulate the symptoms of puberty in men
A. Prostate gland
B. scrotum
C. seminal vesicle
D. testis

. Which of the following structure connects the growing embryo in the uterus with the
Mother's blood
A. Fallopian tube
B. Uterus
C. placenta
D. ovary

. Part of the male reproductive system that nourishes the sperm
A. Testis
B. Prostate gland
C. ureter
D. Bladder

. Egg ---A--- zygote----B---- embryo foetus. In this process the proper
representation  of A and B respectively
A. Fertilization and cell division
B. Cell division and pollination
C. Fertilization and pollination
D. Cell division and fertilization

. This process does not takes place after the ovum has matured
A. The foetus attaches to the inner layer of the uterus
B. The ovum begins to divide
C. Growth and the organs grow and become foetus
D. Continuous the menstrual cycle
61




8. Which of the following is not a part of the female reproductive system in human beings
A. Ovary
B. Uterus
C. Vas difference
D. Fallopian tube

9. Steps involved in the sexual reproduction in flower
A. pollination ,Fertilization, embryo, seed
B. seed , embryo ,fertilization , pollination
C. Embryo , seed , pollination , fertilization
D. pollination , fertilization , seed , embryo

10. When seed germinates which part of the seed develops into root
A. Cotyledon
B. Future shoot
C. Future root
D. Seed coat

11. Which of the following sexual disease spread from bacteria?
A. Syphilis and warts
B. Warts and Gonorrhoea
C. Warts and aids
D. Gonorrhoea and syphilis

12. Female part of the flowers are
1. Stigma 2. Pollen grains
3. ovary 4. Style

A.1,3 and 4 only
B. 1,2 and 3 only
C. 1 and 4 only

D. all of the above

13. Egg released from the ovary has not fertilized then it is
A. adheres to the inner layer of the uterus
B. The release of ovules halted
C. The menstrual cycle continuous
D. Develops into embryo
14. An effective contraceptive method to prevent the spread of sexually transmitted
infections
A. Use of copper - T
B. Use of contraceptive pills
C. Use of condoms
D. Surgical method




15. Which of the following contraceptives changes the body's hormonal balance
A. Use of contraceptive pills
B. Use of condoms
C. Use of copper - T
D. surgical method

16. The functions of ovary is
A. Produce ovules
B. Secretion of estrogen hormone
C. Transfer of ovaries into uterus
D. Supporting Fetal development

17. The part containing the male genitalia in flower
A. Ovary
B. Anther
C. Stigma
D. Style

18. These changes are not occur in boys during adolescence
A. The sound becomes harder
B. Hair in areas after armpit and genitals
C. Appearance of pimples on the face
D. Milk teeth fall off and getting new ones

19. Which female reproductive part receive and nurture the growing embryo every month
. ovary
. Uterus
. Fallopian tube
. Vagina

20. In men testicles are found in the cyst like structure outside the abdomen
A. Low temperature requires
B. Need of additional nutrition
C. High temperature requires
D. For high blood supply

21. Flowering plant with both stamens and pistil
A. Watermelon
B. Mustard
C. Papaya
D. Pumpkin




22. The transfer of pollen to Stigma of the same flower then it is called
A. Fertilization
B. Cross Pollination
C. Self Pollination
D. Sexual reproduction

23. Anther contains
A. sepals
B. ovules
C. pistil
D. Pollen grains

24.which of the following is a sexually transmitted infection
A. Hepatitis
B. Filariasis
C. Typhoid
D. Syphilis

25. Which of the following changes that not occurs after the fertilization of flower
A. Zygote becomes foetus
B. Fertilised ovules become seeds
C. Formation of stamen

D. Petals,sepals stamen, and style fall off

KEY ANSWERS




CHAPTER 8 -HEREDITY AND EVOLUTION

1. It is not possible for the germ cells to have two copies of genetic material.
Because
A. To continue sexual reproduction B. To maintain stability of DNA in a species
C. To double the number of chromosomes D. To bring difference in a DNA

2. Reason for formation of new species by genetic drift and natural selection
A. Variations B. Survival C. Similarities D. Genes

3. Study of structure of organs helps to trace evolutionary relationship, because of
A. Similarities B. Differences
C. Similarities & Differences D. Structure of organs

4. Factors which decides, reptiles and birds are closely related
A. Legs B. Habitat C. Food D. Feathers

5. Expression of tallness & shortness in plants is controlled by genes due to
A. Secretion of hormones  B. Heredity C. Nature of soil D. Nutrition

6. Characters acquired by an organism in its life time cannot direct evolution because
acquired characters are
A. Inherited B. Cannot be inherited C. Separated D. Similar

7. Mendel’s dihybrid cross experiment clarifies how characters of an individual are
inherited to next generation by
A. Obtaining plants of new combiation due to independent assortment
B. resemblance of progeny to its parents
C. Having their ratio 3:1 D. crossing of two plants

8.Analogous organs
A. Have same structure and same function
B. Have same structure and different function
C. Have different structure and same function
D. Have different structure and different function

9. The experiences of an individual during its lifetime cannot be passed on to its progeny,
because they are
A. Inherited characters B. Acquried characters
C. Dominant characters D. Recessive characters
10. When round with green coloured sed plant (RRyy) crossed with wrinkled with yellow
coloured seed plant (rrY'Y) in the F, gerenation the seeds obtained are
A. Round with green  B. wrinkled, yellow C. wrinkled, green D. round , yellow
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11. Homologous organs
A. Have similar structure and similar function
B. Have similar structure and different function
C. Have different structure and similar function
D. Have different structure and different function

12. If the two copies of gene for a given character are not similar then the character which
Expressed and other which is not expressed are called respectively,
A. Dominant character & Recessive character
B. Recessive character & Dominant character
C. Both are Dominant characters
D. Both are Recessive character

13. In human, chromosome inherited by child from its father which decides
A. X- boy B. Y-girl C. X-girl D. Y-boy & girl
14. Speciation occurs when variation combines with this below given factors
A. Natural selection B.Geographical isolation
C. genetic drift D. sexual reproduction
15. A mendelian experiment consisted of breeding tall pea plants bearing white flowers the
progeny all bore violet flowers , but almost half of them were short. this suggests
that the genetic make-up of the tall parent can be depicted as
ATTWW B. TTww C. TtWW D. TtWw
16. An example of homologous organs is
A. Our arm and a dog’s Fore limbs B. Our teeth and an elephant’s turks
C. Wings of butterfly and wings of bat D. Both A and B
17. In evolutionary terms , we have more in common with
A. a Chinese school boy  B. chimpanzee C. a spider D. a bacterium
18. Natrual accidents in small population can change thefrequency of some genes in
population , even if they give no survival advantage is
A. Speciation B.natural selection  C. Genetic drift  D. Variations
19. In mendel’s monohybrid cross experiment the ratio of F, generation is
A.3:1 B. 9:3:3:1 C.2:1 D. 9:3:1
20.In mendel’s dihybrid cross experiment the ratio of F, generation is
A.3:1 B. 9:3:3:1 C.2:1 D. 9:3:1

KEY ANSWER

5 6
A B




CHAPTER:9. LIGHT, REFLECTION AND REFRACTION .

1.Light bends at the interface of two media,when it enters from one medium to
another.This phenomenon is called
A. reflection of light B. refraction of light
C. scattering of light D. internal reflection of light
2. With respect to two media, in which velocity of light is less is called
A. denser medium B. rarer medium
C. optical denser medium D. optical rarer medium
3. With respect to two media,in which velocity of light is  more is called
A. denser medium B. rarer medium
C. optical denser medium D. optical rarer medium
4. The ray which falls on the interface of two media is called
A. refracted ray B.point of incidence
C. angle of incidence D.incident ray
5. The point at which the incident ray falls on the interface is called
A. refracted ray B. point of incidence
C. angle of incidence D. incident ray
6. The ray which get bent at the surface and travels in the second medium
A. refracted ray B. point of incidence
C. angle of incidence D. incident ray
7. The ray that falls perpendicular to the surface on the point of incidence is
A. angle of refraction B. normal

C. refracted ray D. emergent ray




8.The ray which returns back to the first medium from the second medium is
A. refracted ray B. emergent ray
C. incident ray D. reflected ray
9.The angle subtended by the incident ray with normal at the point of incidence is

A. angle of incidence B. right angle
C. angle of reflection D. angle of refraction

10.The angle subtended by the refracted ray with normal at the of incidence is

A. angle of incidence B. right angle
C. angle of reflection D. angle of refraction

11. For given pair of media,the extent to which the direction of light changes is indicated

A. refractive index B. reflective index
C. relative refractive index D. relative reflective index

12. For given pair of media,the ratio of velocity of light in them will be their

A. refractive index B. reflective index
C. relative refractive index D. relative reflective index

13. The ratio of velocity of light in air or vaccum to the velocity of light in the given

A. absolute refractive index B. absolute reflective index
C. relative refractive index D. relative reflective index

14. The ratio of velocity of light in air or vaccum to the velocity of light in diamond

A. 1/1.42 B. 1/2.42
C. 1/3.42 D.1/4.42




15. Light travels faster in water then kerosene,because refractive index of kerosene

B. more
D. all of the above
16. Light enters to the glass with refractive index of 1.5 from air.Find the velocity of light
in glass.(velocity of light in vaccum is 3x108ms-1)
A. vg=1x108ms-1 B. vg=2x108ms-1
C. vg=3x108ms-1 D. vg=4x108ms-1

17. The transparent object whose one or both the surfaces are spherical is called

A. glass B. mirror

C. lens D. prism

18. In convex lens light is
A. converge B. diverge

C. not converge D.not diverge

19. In concave lens light is

A. converge B. diverge

C. not converge D. not diverge
20. Centre of a sphere of which lens is a part is the

A. cetre of curvature B. principal axis

C. optic centre D. focal length

21.The imaginary line passing the centre of curvature of lens is
A. cetre of curvature B. principal axis

C. optic centre D. focal length
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22. Centre of the lens,usually denoted by ‘0’
A. cetre of curvature B. principal axis
C. optic centre D. focal length
23. The beam of light parallel to the principal axis,after refraction get converged on a point

on principal axis.That point is the
A. principal focus of convex lens(F) B. principal axis

C. principal focus of concave lens(F)  D. optic centre(o)

24. The beam of light parallel to the principal axis,after refraction get diverged on a point

on principal axis.That point is the
A. principal focus of convex lens(F) B. principal axis
C. principal focus of concave lens(F)  D. optic centre(o)
25. The distance beteen the optic centre and the principal focus of a lens
A. cetre of curvature B. principal axis
C. optic centre(o) D. focal length(f)
26. The distance from the optic centre to the object is
A. 1mage distance(V) B. object distance(u)
C. optic centre(o) D. focal length(f)
27. The distance from the optic centre to the image is

A. 1mage distance(Vv) B. object distance(u)

C. optic centre(0) D. focal length(f)

28. The distance from the optic centre to the image is
A. image distance(v) B. object distance(u)

C. optic centre(o) D. focal length(f)
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29.Lens formula
A. 1/t=1/v- 1/u B. 1/t=1/v+1/u
C.1v=1/f-1Nu D. 1u=1/v+1/f

30.Magnification is the ratio of height of the image to the height of the object denoted

A. m=hl/h B.m=u/v

C. m=h/hl D.m=flv

KEY ANSWERS

6 7 9
A B A

18 20
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CHAPTER 10: ELECTRICITY

. The continues and closed way of electric current is called
A. Magnetic field B. Electric circuit
C. Dynamo D. Magnetic Induction
. Rate of flow of electric charges
A. Electric current B. Electric power
C. Work D. Heating effect
. ST unit of electric charge is
A. ampere B. coulomb
C. volt D. watt
. ST unit of current
A. Coulomb
C. ampere
. The device used to measure rate of flow of current
A. Volt meter B. Galvanometer
D. Ammeter D. Bulb
. The device which connects battery and bulb in a circuit is
A. Switch B. Tungsten

C. Volt meter D. Ammeter

. A device used to measure potential difference

A. Galvanometer B. Thermometer
C. Ammeter D. Volt meter

. The way of connecting volt meter in measuring potential difference between two points
A. Parallel B. Series

C. Alternate D. Direct




9. The way of connecting Ammeter in a circuit
A. Parallel B. Series
C. Parallel and Series D. None of the above
10. ST unit of Resistivity
A. Ohm meter B. Volt meter
C. Galvanometer D. Ammeter
11. SI unit of Electric power
A. Ampere B. Coulomb
C. Volt D. Watt
12. Safety device used to protect electrical appliances
A. Battery B. Fuse
C. Wire D. Bulb
13. A factor which is not dependent of resistance of a conductor
A. Length of the conductor B. Area of conductor
C. Nature of conductor D. Price of conductor
14. As the resistance increases the current becomes
A. zero B. Less
C. High D. Equal
15. A device which works on the basis of heating effect of electricity
A. Mixi B. Cooker

C. Iron box D. Radio

16. Three ampere current is flowing through a resistor having resistance 6 ohm, potential

difference 1s
A. 2 volt B. 18 volt
C. 0.5 volt D. 3 volt




17. 2 ampere current is flowing through a conductor for 5 min, the amount of charges

flowing in the conductor

A. 10 coulomb B. 300 coulomb
C. 600 coulomb D. 20 coulomb

18. When 4 coulomb charges are moving between 2 points of a conductor having potential

difference of 6 volt, the work done 1s

A. 6 joule B. 24 joule
C. 12 joule D. 4 joule
19. The resistance of filaments of electric bulb is 900 ohm. It is connected to a source of
150 volt. The amount of current received by the bulb is
A. 6 ampere B. 900 ampere
C. 1.5 ampere D. 1.6 ampere

20. Three resistors having resistance 4.5 ohm, 7 ohm and 6 ohm are connected in a series,
the total resistance of the circuit

A. 17.5 ohm B. 6 ohm
C. 7 ohm D. 4.5 ohm
21. A bulb is connected to a battery having the power of 200 volt, 1.5 ampere current is
flowing through it, the power of the bulb is
A. 300 watt B. 200 watt
C. 150 watt D. 100 watt

KEY ANSWERS

5 6

15 16
C B




CHAPTER 11. MAGNETIC EFFECTS OF ELECTRIC CURRENT

1. The following statement is wrong with respect to magnetic fields lines.

a) Field lines do not intersect each other’s
b) Field lines start from North Pole end with South Pole.
c¢) Field lines move from South Pole to North Pole
d) Field lines are closed together

. Field area around the bar magnet is
a) Electric field.
b) Magnetic field.
¢) Magnetic field lines
d) None of the above.

. Magnetic field lines do not intersect each other , if they intersect
a) Magnetic needles points in only one direction
b) Magnetic needle points
¢) Magnetic needle points in both direction
d) None of the above

. Device used to produce electric current
a) Generator
b) Galvanometer
¢) Ammeter
d) Electric motor

. Scientist invented the magnetic effect of electric current is
a) Maxwell
b) Oersted
c) Faraday
d) Fleming

. The direction of electric current in a motor changes direction in
a) One rotation
b) Half rotation
c) After two rotation
d) After four rotation

. The Correct statement with respect to pole of the magnet is
a) Like poles attract each other.
b) Unlike pole attract each other
c¢) Unlike pole repel each other
d) None of the above

. The frequency of current in India is
a) 100Hz
b) 50Hz
c) 10Hz
d) 150Hz




9. The magnetic lines inside the magnet are always
a) From north to south pole
b) From north to west pole
¢) From south to north pole
d) From north to east pole
10.The middle fingers in the Fleming left hand rule indicates
a) Magnetic field
b) Direction of motion
¢) Direction of induced current
d) Direction of current
11.The potential difference between live wire and the neutral wire in India
a) 210V
b) 220V
c) 250V
d) 230V
12.The magnetic lines inside the solenoid are parallel to each other the magnetic field
inside the solenoid is
a) Maximum
b) Same
c) Zero
d) Due to electric current
13.This device increase decrease the resistance the circuit
a) Switch
b) Fuse
c¢) Variable resistor
d) Ammeter
14.The conductor carrying electric current acts as a magnet, this is
a) Heating effect
b) Magnetic effect
¢) Chemical effect
d) Lighting effect
15.A device use current carrying conductor and a magnetic field is
a) Computer
b) Heater
¢) Fan
d) Fuse
16.Which of the following is not a property of Magnetic lines of force
a) Lines are dense at poles
b) Lines are closed together
c¢) Lines intersects each other
d) Start from North pole end with South Pole
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17.0bserve the given figure P and Q Represents
a) South and South
b) North and South
¢) North and North
d) South and north
18.The direction of magnetic lines in a straight conductor carrying current is suggested
by.
a) Fleming right hand rule
b) Fleming left hand rule
¢) Right hand thumb rule
d) Electromagnetic induction rule
19.Field area around the bar magnet is
e) Electric field.
f) Magnetic field.
g) Magnetic field lines
h) None of the above.
20.A device used to protect the electric appliances from load is
a) Ammeter
b) Switch
c) Fuse
d) Meter
21.The structure of the coil on the electric motor is
a) Circular
b) Rectangular
c¢) Triangular
d) None of the above
22.Electromagnetic induction was invented by
a) Faraday
b) Newton
c) Fleming
d) Oersted
23.The device which convert Mechanical energy in to electric energy is
a) Electric motor
b) Electric generator
¢) Fan
d) Ammeter
24.The device which used to change the direction of current in motor is
a) Carbon Brushes
b) Split rings
c) Magnets
d) Armature




25.The principle of the electric motor is
a) When current carrying conductor is placed in a magnetic field it experiences a
mechanical force
b) Chemical effect of current
c) Magnetic effect
d) Electromagnetic induction
26.A device used to find the current induced in faraday experiments is
a) Voltmeter
b) Ammeter
¢) Galvanometer
d) ester
27.The current in the short circuit time
a) Decreases gradually
b) Do not Changes
c¢) Increase maximum
d) Changes every time
28.A device used to get electric current from mechanical energy is
a) Dynamo
b) Galvanometer
c) Voltmeter
d) Ammeter
29.The important difference between AC generator and DC generator is
a) AC generator has electromagnet but DC generator has permanent magnet
b) DC generator produce more voltage
¢) AC generator produce more voltage
d) AC generator has slip rings but DC generator has commutator

Key answers

Question | Answer | Question | Answer | Question
no no no

01 11 21
02 12 22
03 13 23
04 14 24
05 15 25
06 16 26
07 17 27
08 18 28
09 19 29
10 20
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12.SOURCES OF ENERGY

1.The gas which causes greenhouse effect.
A. hydrogen B.oxygen C. nitrogen D.carbon dioxide
2.the largest wind power station of India.
A. Bengaluru B.Mangaluru C.Madurai D.Kanyakumari
3. The Nationof wind.
A. Denmark B. Germany  C.India D. America
4.The Nature of biogas is.
A. Morestable B.remain ash when burnt  C. costliest D.difficult to transport
5.form of energy which is Less pollutant.
A. nuclear energy B.Solar energy
C. heat energy D. underground thermal Energy
6. The main component of Solar cell is.
A. Carbon B. silicon C.Nitrogen D. Boron
7. The device used convert solar energy to electrical energy is .
A.Solar water heater B. Solar cell C. Solar furnace  D.Shell
8. the fuel used in thermal power plant
A.Carbon B kerosene C. Uranium D.Petrol
9. HotSprings are in relation with
A.underground Heat. B.nuclear energy C. wave energy D.wind energy gases
10.TheCarbonn nitrogen and sulphur release Due to burning of Fossil fuels are.

A. basic oxides B.Bipolar oxides C. acidic oxides D.Neutral oxides

11.Methane gase released due to anaerobic degradation of plant mass.this problem

associated

A.To construct thermal plant

B.To construct dams to supply hot water to hydro electric plant
C.To construct biogas plant

D.To construct wind machine to get wind energy generation




12. The power generated due to exposure of solar cellsto solar rays is.
A, 1W B.0.5W C.0.7W D.1.5W
13.The voltage generated when a solar cell exposed to Sunrays is
A.1.5V-2V B.2V-2.5V C.0.5V-1V D.1V-1.5V
14.The device used in solar cooker is.

B.Convexmirror C. horizontal mirror  D.Sherical mirror

15.The Fuel used in Rocket 1is.

A.Concave mirror

A. compressed natural gas B. petrol C. hydrogen D.natural gas
16.the principle of nuclear Bomb is

A. controlled chain nuclear fission B. controlled chain nuclear fusion
C.nuclear fusion D. thermodynamics fusion
17.Theprinciple of solar cell.

A.convert light energy to heat energy

B.convert heat energy to light energy

C.convert heat energy to chemical energy

D. convert light energy to mechanical energy
18. Which energy is not feasible to run turbines

A.Going water energy B.solar heat energy
C.Steam energy of boiling water D.Moving wind energy
19.The least polluting source of energy

A. Nuclear energy
C.Solar energy

B. Thermal power energy
D. Geothermal energy
20.the energy produced in biogas plant is due to

A, controlled physical Fussion B. uncontrolled physical Fussion

C. physical fussion D.Thermalfussion
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13. OUR ENVIRONMENT

1. Correct statement regarding biodegradable materials
A. Stays dormant for a long time in environment
B. Many organisms in the eco-system are harmed
C Harmful chemicals concentration increase in various tropic levels
D. Recycling takes place naturally in the environment
2.Two steps followed in the formation
A.02+O—*> 03, 02+0—>03 B.02—> 0O+0, O+02—» O3
C. 02+02 — 03, 02+O0 —03 D. O+O— 02, 02+0—> O3
3.These are things , that slowly change their appearance and structure in the environment
A. Used tea leaves B. Peels of vegetables
C. Waste papers D. The fibres of plants
4. In the higher levels of atmosphere , Formation of ozone from oxygen is influence by
A. X-rays B. Ultraviolet rays
C. Infrared rays D. Radio waves

5. The formula for Ozone is
A.O B.0O2
C.03 D. H20
6. Chemical which is present in the CFC is responsible for the causing more damage to the
ozone layer
A. Chlorine B. Florine

C. carbon D. Oxygen
7. Which of the following is a biodegradable waste
A.DDT B. Agricultural waste
C. Plastic D. Glass
8.In the following , Which is eco friendly fuel
A. Petrol B. Kerosene
C. Biogas D. LPG

9. Acid rain is caused due to
A. Deforestation B. Oxides of Sulphur and nitrogen
C. Oil waste D. Radio active waste
10. This method is best for handling non biodegradable waste
A. Incineration B. To heap
C. Burying D. Recycling




11. The chemical responsible for destruction of the ozone layer
A. CFC B. CCF
C. HDFC D. KFC
12. Major advantage of ozone layer for life on earth
A. Supply of oxygen B. Pollution control
C Protection from ultraviolet rays D. Supply of carbon dioxide

KEY ANSWERS

5 6
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CHAPTER-14 SUSTAINABLE MANAGEMENT OF NATURAL RESOURCE

1.

The bacteria indicates contamination level of water is
A.Coliform bacteria B.Lactobacilous bacteria
C. Salmonella bacteria D.Vibreo cholera bacteria.

. Sustainable management means

A. Control between nature and human development
B. Protection of environment

C. Encouraging human development
D. Make provision for availability of more resources
. Encouraging the means of usage of present resources to fulfill the basic needs of

future generation is
A. Stable development B. Balanced development
C. Unbalanced development D.Sustainable development

. For the sustainable development the factors one look for

A. Protection B. Sustainity  C.Diversity of life ~ D.All the above

. Among 5 R’s of safeguarding the environment the one which relates to the concept

of not purchasing is
A.Refuse B. Reduce C. Recycle D.Reuse

. Among 5R’s of environmental protection the one which specifies reuse

A.Throwing after usage

B.Using the thing for other purpose according to needs
C.Recycling the thing used for other usage

D.Using several times the one for same purpose

. Among 5R’s of environmental protection the one concerned with usage of electric

bulbs and fans according to needs
A.Recycling B.Refuse C.Reuse D.Reduce

. Aim of management of resource is

A. Only for the usage of rich and influencial people
B. Availing more resources to all

C. Availing only for the poor

D. For the sustainable use in future

. Sustainable management of natural resources includes

A. Planning for safety extraction of resources from the core
B. Equal distribution and usage of natural resources to all
C. Availing resources for future generation

D. All the above




10. Working on rejuvenating ancient systems of water harvesting as an alternative to
the mega project like dams, as
A.These increases ground water level
B.Gives life to rivers
C.Protects the bio-diversity
D.All the above
11. Characteristics of water harvesting
A.It is region specific
B.Only for selective people
C.Reduces water bodies which affects people
D.All the above
12. Disadvantages of water harvesting are
A.Crescent shaped earthen embankments are low
B.Only largest structures hold water year round :most dry up less after monsoons
C.Recharge ground water
D.Both A & B are correct
13.Since of industrial revolution the sources of energy using in large amount to meet
basic needs.
A.Wind energy B.Nuclear energy C.Water energy D. Fossil fuels
14. Old technique of water harvesting of Himalayas
A Eri B. Ahar C.Kulhs D.Natis
15.Rajastan :Khadins & Nadis:Maharashtra
A.Ponds & dams B.Budis & ahar
C.Bandar & Hynes D. Bandar & Tals
16.Disadvantages of Dams

A. Rehabilitating farmers and tribals without compensation
B. Economic problems as they swallow up huge amounts of public
C. Deforestation and loss of bio-diversity

D. All the above
17.Management of water shed

A. Increases productivity & income of people
B. Decreases draught & flood
C. Increases bio-diversity of terrestrial system
D. All the above
18. Uses of Dams
A. Helpful for watering
B. Useful for generation of electricity
C. Carries water for long distance
D. All the above




19. Destruction of bio-diversity
A. Increases lives of the rest
B. Leads to ecological balance
C. Destruction of ecological balance
D. None of the above.
20. Amritha Devi Bishnoi sacrified her life for the protection of
A.Palm trees B. Khejri trees C. Sal trees D.Teak trees

21. deforestation affects
A. Products of forest
B.Quality of soil
C.water bodies

D. All the above
22. Recognitions of the failures of the west Bengal forest department in reviving the

degraded sal forest in the south western districts are
A.Villages were requested to involve in participation of 1272 hectares of badly

degraded sal forest
B.Villages were given employment in both silviculture and harvesting operations

C.25% of the final harvest was allowed for fuel wood and fodder collection
D.All the above.

Correct anwsers
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PRACTICE PAPER-2 (YEAR: 2020-21)

I.Four choices are given for each of the questions / incomplete statements chose the
correct answer and shade thethe correct choice in the OMR given to you with blue or
black ballpoint pen.

1.dentify the correct experimental setup for verification ofOhm’s law
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B. B C. AandB D. None of the above
2. A unit used to measure the flow of current is)
A. Watt B. Coulomb C. Volt D. Ampere
3.The energy transferred by a 100W electric bulb in 1 minute is
A.100) B.600 ) C. 3600 D.6000 J
4. The potential difference across a 3 Q resistor is 6V. the current flow in the resistor
will be
A. %A B.1A C. 2A D.6A
5. When the diameter of a wire is doubled, its resistance becomes
A. Double B.Four times C. One-half D. One-fourth
6. The rule which indicates the magnetic field in a current carrying straight conductor is
A. Right hand thumb rule B.Fleming’s Left —hand rule
C. Fleming’s right —hand rule D. Screw rule
7 . The magnetic field intensity inside a solenoid is

A. Zero B.Medium C.Low




8.The Part of a motor which change the direction of flow of current is
A. Armature B.Brushes C. Split rings D.Magnets
9) The main component of biogas
A.Methane B. Carbon dioxide C. Hydrogen D. Hydrogen sulphide

10 .Optimal wind speed for power generation from wind mills)

A.5 km/hr B. 8 km/hr C. 15km/hr D. 25km/hr

11. Type of radiation responsible to form ozone layer is
A.micro wav B. UV rays C. radio waves D. ultrasound
12.The method of using materials at homes less frequently or only as needed is
A.Reuse B.Reduce C. Repurpose B Recycling
13.By building khaddin embankments on flat terrain
A .The water level decreses
B .The water level increases
C .The plants in the submerged area willsuffer from excess moisture
D. Contaminated of Groundwater
14.The pH of fresh milk is 6. The pH value of the milk after its conversion into curd
A.6 B. Below 6 C. Above?7 D.7
15. Acid present in honey bee bite
A. hydrochloric acid B. methanoic acid C. nitricacid D. hydrofluoric acid
16.The pH value of the solutions A, B, Cand D is 2, 3, 4 and 5. respectively. Which one
of these has more acidic property?
A.. Solution A B.Solution B C. SolutionC D. Solution D
17.Descending order of reactivity of metals
A.Fe>Zn> Al > Mg B. Zn> Fe > Al > Mg
C Al>Mg>Fe>12Zn D. Mg > Al>2Zn > Fe
18.Example for amphoteric oxide

A.Nazo B. A|203




19.components used to fuse electrical wires
A. Iron and cobalt B.Copper and tin C. Iron and Nickel D. Lead and tin
20.An example for unsaturated hydrocarbon is

A . Ethyne B. Hexane C. Pentane D. Butane

.21The hydrocarbon which undergoes addition reaction is

A. C;H, B. C;He C. GCiHs D.CH,

.22 The catalyst used in hydrogenation of plant oils

A.Cobalt B. Iron C. Nickle D. lodine

23.Carbon has the unique ability to form bonds with other atoms of carbon, giving rise
to large molecules. This property is called

A. Isomerism B. Allotropy C. Catenation D. Hydrogenation

24.Which of the following rule states that ‘Properties of elements are a periodic
function oftheir atomic number.

A. Dobereiner’s law of Triads B.Newlands’ Law of Octaves
C. Mendeleev's Period Law D. Moseley's Modern Periodic Law

25. Period and group number of sodium element is

A.1,3 B. 2,4 c. 1,2

26.Snell’s law of refraction is true for angle

A.0<i<90° B. O<i<60° C. 30<i<90° D. 0>i>90227.

Observe the picture, relative size and nature of the image formed is

a)Highly diminished, real and
inverted

b)Enlarged, real and erect

c)Enlarged, virtual and erect

d)Enlarged, real and inverted




28.Unit used to measure the power of a lens is

A. Meter B.Dioptre C. Decible D. Degree

29. A concave lens has focal length of 15 cm. At whatdistance should the object from
the lens be placed so that it forms an image at 10 cm from the lens? Also, the
magnification produced by the lens.

A.30cm, +0.33  B. 30mm, +0.33 C. 30cm,-0.33 D.30mm, -0.33
30.The unit helps in clotting of blood

A. Platelets B. White blood cells C. Red blood cells D. Plasma

31.The structure and functional unit of the excretory system

A. neuron B.ureter C. bladder D. nephron

32.ASmall space between the two neurones is

A. Nerve cell B.Synapse C. Dendrite

33.The phenomenon of growth of roots towards water is

A. Hydrotropism  B. Phototropism C. hemotropism D. Phototropism

34.The functionof hypothalamus is

A.Sleeping B.Necessity of food C. Thirst D. All of the above

35.In human males, the testes lie in the scrotum outside the body because

A.health of sperms B. formation of sperms

C. transfer of sperms D. More number of sperms

36.Sex of a child will be determined by
A. X chromosome of father B.X chromosome of mother)
C. Y chromosome of father D. Chromosomes of both father and mother

37. Which of the following is not a part of the female reproductive system.?
A. Ovary B.Uterus C. Vas deferens D.Oviducts




38.An example for homologous organ is

A. Wing of bat and bird B. Embryos of man and bird

C. Fossils of vertebrates and invertebrates D.Forelimbs of man and bird

39. Sex of a child will be determined by

A. X chromosome of father B. X chromosome of mother

C. Y chromosome of father D.Chromosomes of both father and mother

40.Phenotypic ratio of dihybrid cross F 2generation

A. 6:3:3:1 B. 3:1 C. 9:3:3:1
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